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QUESTION 1

A user enters unexpected data into a program. Which functionality can the programmer use to present an
understandable error message to the user? 

A. Casting 

B. Exception handling 

C. Dictionaries 

D. Regular expressions 

Correct Answer: B 

 

QUESTION 2

A programmer attempts to run the Python program hello.py as follows, but an error occurs. What is the cause of this
error? 

A. hello.py is missing the line #!/usr/bin/python 

B. smtp_mime was replaced with Python 

C. Python cannot find the script "hello" 

D. hello.py is improperly encoded with UTF-16le 

Correct Answer: A 

 

QUESTION 3

What is the output when the following commands are typed in Python interactive mode? 

A. [\\'tag to go tag\\', \\'to sans tag\\'] 
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B. [\\'tag to go tag\\', "tag to sans tag\\'] 

C. [\\'tag to go tag\\'] 

D. [\\'tag to go tag to sans tag\\'] 

Correct Answer: A 

 

QUESTION 4

What is the output of the following line of code typed into a Python interactive session? 

A. 0b10101 

B. 18 

C. 0b10010 

D. 0b101101 

Correct Answer: C 

 

QUESTION 5

Variable "traffic" contains a Scapy packet list. A programmer runs the following command: 

p1=traffic [1] 

Which of the following describes the contents of pi, with respect to the "traffic" packet list? 

A. All Ethernet layer frames 

B. The contents of the second packet 

C. TCP streams with a session ID of 1 

D. The data stored from the first byte onward 

Correct Answer: A 
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